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QUESTION 1

Which two accounts are mandatory prerequisites for the successful deployment of a VMware Cloud on AWS solution?
(Choose two.) 

A. A VMware vCenter Server account 

B. An AWS account 

C. A VMware Cloud account 

D. An Amazon Elastic Compute Cloud (EC2) account 

E. A VMware Cloud on AWS account 

Correct Answer: AE 

 

QUESTION 2

A customer is deploying a new solution based on VMware Cloud on AWS. The customer is already running several
native AWS services and would like the new workloads deployed into VMware Cloud on AWS to consume these
services without incurring additional traffic charges. During the initial deployment of the VMware Cloud on AWS software-
defined data center (SDDC), which option must the customer choose to meet the requirement? 

A. Choose a connected Virtual Private Cloud (VPC) that is located in the same region as the native AWSservices to be
consumed. 

B. Any availability zone within the same AWS region can be selected. After the SDDC deployment, deploy a services
gateway and connect it to the target availability zone. 

C. Choose a subnet from the connected Virtual Private Cloud (VPC) that is located in the same availability zone as the
native AWS services to be consumed. 

D. Choose a connected Virtual Private Cloud (VPC) that is located in the same availability zone as the native AWS
services to be consumed. 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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An administrator completes an assessment of its local data center for potential migration into VMware Cloud on AWS.
After reviewing and analyzing the data and taking into account the company\\'s business and IT priorities and budget
constraints, connectivity between its on-premises and VMware Cloud on AWS environment will NOT require any high
speed low latency connections. All new networks should be added to the software-defined data center (SDDC) routing
table automatically when created. Which connection supports these requirements? 

A. Layer 2 VPN (L2VPN) 

B. AWS Direct Connect 

C. Route-based VPN 

D. Policy-based VPN 

Correct Answer: D 

 

 

QUESTION 4

When deploying a VMware Cloud on AWS software-defined data center (SDDC), which three default components are
located behind the T1 Management Gateway? (Choose three.) 

A. Three-node VMware NSX-T Controller Cluster 

B. VMware vCenter Server 
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C. VMware Site Recovery 

D. VMware vRealize Log Insight 

E. VMware NSX-T Data Center Manager 

F. VMware HCX Cloud Manager 

Correct Answer: BCD 

 

QUESTION 5

An administrator is preparing to deploy a VMware Cloud on AWS software-defined data center (SDDC) and is planning
to scale up to 48 nodes in the future. What is the minimum size management CIDR block that is needed to meet this
requirement? 

A. /24 

B. /16 

C. /23 

D. /20 

Correct Answer: D 
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